Simplify each. 2.)4g9(6g° +5g —8)
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Use this variable expression:
-14w? -18wx +4x2 -30

e How many terms are there?

Terms are separated by addition or subtraction.

If variables and numbers are connected with

multiplication and division they create a single term.

Simplify each:
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Use this variable expression:

-14w? -18wx +4x2 -30

e \What do we call the numbers
-14, -18, and 4?
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Use this variable expression:

-14W2 -18wx +4X2 -30 could be:
e \What do we call the number -307? = just a number
A constant -.:H—' U\)/o A VQAriable

m just a variable (with or without an exponent)
= the product of more than one variable

= the product of a number and a variable or
variables.

Terms that have both of the following conditions:

Rearrange these terms so that like terms are
© Same variable(s)

grouped together.
3

kj? 2
] 15k -
o Same exponents on those variable(s) % X -Kj " 21 ggjkli 3._ %522 4,8916515 T(2J
o What doesn't matter?
the coefficient .
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Simplify.
oxB Ax B 7xH 3 + X2 - 12

DX *+2X — (S

Combining like terms:

Finding terms that are alike then adding and
subtracting them using the coefficients so that
there is only one term with each type of variable

part.

2. 5-4a(2a-3)+6a+2a’-9
5-3%a” +12a+bo+2a -1
—Y-6a? +\8a
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Simplify each.
1. 4@7) - 3(2x - 4)

Ax+ L p-6xtis

3. 202+ c_5c2_34+3¢c_9
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Hwk #7 - Section 1.7 (due Monday)
pg. 50 #21-26, 35-42

IXL #2 - A.8 & .7 due tonight by 6pm!

5. -6a%b +ab? - 4b2%a + 7ab - 2a?b - 5qb2
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